
Installation dimensions

Cat. No:
503.06.550

OSKA H Waste Bin
2 x 15 Ltr, Base mounted

H
A

A
 0

7.
20

15

© 2015 by Häfele Australia Pty Ltd
8 Monterey Road • Dandenong • Victoria 
www.hafele.com.au

Subject to Alterations 1

200 mm 

Ø5 mm 

31
0 

±
 1

0 
m

m
95

 m
m

32
 m

m

32 mm BOM List

1 Brackets 4 PCS

2 4 x 16 mm screws 16 PCS

3 4 x 25 mm screws 6 PCS

38
0 

m
m

370 mm
500 mm

480 ± 10 mm

340 ± 10 mm 

32
0 

±
 1

0 
m

m



Installation dimensions

Cat. No:
503.06.501

OSKA H Waste Bin
2 x 20 Ltr, Base mounted

H
A

A
 0

7.
20

15

© 2015 by Häfele Australia Pty Ltd
8 Monterey Road • Dandenong • Victoria 
www.hafele.com.au

Subject to Alterations 1

200 mm 

Ø5 mm 

31
0 

±
 1

0 
m

m
95

 m
m

32
 m

m

32 mm BOM List

1 Brackets 4 PCS

2 4 x 16 mm screws 16 PCS

3 4 x 25 mm screws 6 PCS

48
0 

m
m

370 mm
500 mm

480 ± 10 mm350 ± 10 mm 
42

0 
±

 1
0 

m
m




